@_ﬁf’@ Cosmo School
Work Sheet — 05 (Mathematics)
for class — Ten (28.10.2020)
Chapter — Four, Exercise - 4.3

Exponents and Logarithms
Creative Multiplication Choice Questions

1. What is the
0.000060302?
a) 0.60302 x 10~*
b) 6.0302 x 1075
c) 60.302 x 10°°
d) 603.02 x 1077

2. What are the characteristics of the log of

number of
[R.B.- 20]

scientific

the number 6.34? [Ctg.B.- 20]
a) 2 b) 1
c) 0 d —1
3. What is the characteristic of the common
log of 0.0035? [S.B.- 20]
a) 3 b) 1
c) 2 d 3
4. What is the characteristic of common log
of the number 0.0000000037? [B.B.-
a) 11 b) 10
c) 9 d 8
5. What are the characteristi
number 0.00357?
a) 3
c) 2

6. Express 00426

[R.B.- 19]
b) 4.26 x 102
d) 4.26 x 1073
7 aracteristic of log of the
numbe [C.B.- 19]
a) 5 b) 4
c) 4 d) 5
8. What are the characteristics of log of
the number 3784.8? [All B.- 18]
a) 4 b) 3
c) 2 d) 1
0. Which one of the following is scientific
form of 0.03367? [S.B.- 17]
a) 3.36 x 10* b) 33.6 x 107*
c) 3.36x 1072 d) 0.336 x 1072

10.

11.

12.

13.

14.

15.

What is the characteristic of the

common log of the number 20.20?
[Ctg.B.- 17]

a) -1 b) 0

c) 1 d 2

What is the characteristic of the

logarithm of the number 35.377?

[C.B.-17]

a) —1

c) 3

Which one of the

owing is the
[S.B.- 16]
X 1072

cs of log of
[Dj.B.- 16]

[B.B.- 16]
10 considered as the base of
on logarithm.
haracteristics of the log of the
number 5.34 is 0.
iii. logy M +log, N =log,(M + N).
Which one of the following is correct?
a) iandii b) iand iii
¢) ii and iii d) i, iiand iii
What is the characteristic of the
common log of the number 0.000345?

[D.B.- 15]
a) 5 b) 4
c) 3 d) 4
16. What is the condition to write a humber
in the form of p x 10™? [D.B.- 15]
a) 1<p<10 by 1<p<10
) 1=p=<10 d 1<p=<10
17. What is the characteristic of the common
log of 62.542? [R.B.- 15]
a) 0 b) 1
c) 2 d) 3
18. a x 10" is the scientific form where -
[C.B.- 15]
a 1<a<10 b) 1<a<10
) 1<a<10 d 1<a<10

19.

What is the characteristic of the
common log of 0.00357




20.

21.

22,

23.

24,

26.

27,

a) 3 b) 1
c) 2 d 3
Considering the number 0.0225

answer to the following questions No.
(20 - 22):

Which one of the following is in the
form a"?

a) (2.5)2 b) (0.015)2

c) (1.5)2 d) (0.15)?
Which one the following is the
scientific form of the number?

a) 225x107* b) 22.5x 1073
c) 2.25x 1072 d) 0.225x 1071
What is the characteristic of the
common log of the number?

a) 2 b) 1

c) 0 d 2

What is the characteristic of the
common log of (0.00035)?

a) 3 b) 1

c) 2 d) 3

For convenience, very large or small
number is expressed in the scientiii
form as -

i. ax10" such that 1 <a 0

n € N.

ii. ax10™ s that 1 < 10
a€ElZl.

iii. ax 10" 10 and

b) 0.115

c) 2 d 1

What is the characteristic of common
logarithm of 0.0035?

a) 3 b) 1

c) 2 d 3

Which one is the scientific form of the
number 0.0225?
a) 225x107*

c) 2.25x 1072

b) 22.5x 1073
d) 22.5x 107!

28.

29.

30.

31.

33.

34.

35.

36.

What is the condition to write the
number of p x 10™?

a) 1<p<10 b) 1<p<10
) 1<p<10 d 1<p<10
Which one is the following being the
scientific form of the number?

a) 125x107* b) 12.5x 1073
c) 1.25x 1072 d) 125x 107!
Which one is the scientific form of the
number of the following?

a) 51.2x107* 5.12 x 107*
c) 512x 1073 512 x 1073
Which one is
0.0225?

b) 56.7 x 107°
c) 5.67 x107* d) 0.56 x107°
What is the characteristic of the
common log of the number?

a) 4 b) 3

c) 3 d) 4

Which of the following number is
written standard scientific form?

a) 55.70 x 102 b) 5.570 x 103
c) 0.5570 x 10* d) 557 x 10!
The standard form of the scientific
number is a X 10™ then Which of the
following is correct limit of the value
of a?

Q) —10<a<10 b) 1<a<10
c) 1<a<10 d) a>10

If the distance between the Sun and
Venus is 105600000 then which of the
following is standard form of the
distance?

a) 1.56 x 1078
c) 1.056 x 108

b) 1.056 x 1077
d) 1.56 x 108




